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If A={1,2,3 4.5.7.89) and B={2,4,6,7,9} then how many propel subpot ol
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A 16 9 ”
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LUB? 15
B 32
D. - 31
; 42 wi infith O to |
2. Find the area under the curve f (.1|.-)=‘.v::J + b+ o with the lintits
A. 3833
B. 4388
3
C. 4383 &
D. 3338 \\
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KEJ
17. then what 18 variance of y=2x+57
ble ‘x' 18 14,
5 If the variance of a random varia :
S .
A 3 | 5
8 39 Downloaded From www.castudynotes.com
C. 65
D. 78
: ' is coefficient
97. If the variance of given data is 12, and their mean value is 40, @ nt of
variation (CV)? 9
A 5.66% Q -
B. 6.66% ' o * ﬁ
C. 7.50% ,@
D. 8.65% 0
98. In a given set if all data are of same vﬂu&%ﬁanw would be:
A0

5 3 )
e (0.6\'
D. 05 ()

: : 2
99 thmetic mean be 0 numbers is 5 and Geometric mean is 4 then what is
the value of Harmo an? P A
A 82 fﬁ\l-:wmn's“
B 9

e

-fifg/canotes_foundation

Ll
g - ¥ =l
: "'-‘;.!' .

.
.

. Py -
B Y years. Out of thar +
tudente is ¢ . O them, the average age of
I8 18 D vears What =
; L."'{E:g..._' o | TR m m thE average of

8 '
= ld

.
K et AR

\

e

Scanned with CamScanner


http://www.castudynotes.com
http://t.me/canotes_foundation
http://www.castudynotes.com



